
 

 

Answer on Question #48295 – Math - Statistics and Probability 

Over the last 10 years, the average number of deaths due to accidents involving a certain commercial 

airline has been about 30 per year. Over the same period, the average number of passengers of the airline 

has been more than 4.8 million per year. What is the probability of dying on a particular flight? 

Solution 

The average number of deaths due to accidents involving a certain commercial airline has been about 𝑛 =

30 per year. The average number of passengers of the airline has been more than 𝑁 = 4.8 𝑚𝑖𝑙𝑙𝑖𝑜𝑛 = 4.8 ∙

106 per year. The probability of dying on a particular flight is 

𝑃 =
𝑛

𝑁
=

30

4.8 ∙ 106
= 6.25 ∙ 10−6. 

Answer: 𝟔. 𝟐𝟓 ∙ 𝟏𝟎−𝟔. 
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